
I. A. 225° to radians

=> 225°
• Yj =3. 9269 . . .

b. 3.37 to degrees

=> 3.37 . 180°
F-
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c. 638° to radians

=> 638°
@ ,Y_g= 11.135
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ai First

,
convert the speed in to mi.IN

- radius is in inches
, t we use minutes for our

time

19mi 5280¥. •
1¥ = 20,064= >

n-y.im,
1/1--1 60min

then
,
use V=rw to find angular Saeed

=> ✓=rw = > 20,064=12 W = > WE 1672rad

min
ii. recall that 1 revolution is 21T radians

.
. .

⇒ w=
'

"m÷F.IE?*--- 266.10>5¥
b. The units are already in the correct format

,
so

no conversions are necessary
,

just divide the diameter by 2.

=> v=rw = > 58,927m¥ = is 16mi • W

= > w
--38.8 > Y÷

Next
,
Find revolutions Per Year

= > s%;;;÷ .

tier
zitraa

= 6.186 r¥


